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R02 |R03 [R04 [ROS5 [RO6

A09-001 57m "= 311(2.70
A09-002 55m "= 242 11.49
A09-003 184m "= 504 |4.74
A09-004 93m "= 333(2.70
A09-005 80m "= 21112.86
A09-006 254m "= 583 (2.01

0000547675




R02 |R03 [R04 [ROS5 [RO6

A09-007 646m ] 689 |17.18
A09-008 340m "= 320 (2.11
A09-009 159m ] 323 |4.34
A09-010 122m "= 383 (28.96
A09-011 136m "= 522 14.83
A09-012 245m L I B B BN 343 |7.97
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R02 |R03 [R04 [ROS5 [RO6

A09-013 26m 238m L I B B BN 793 (1.20
A09-014 249m L I B B BN 958 |8.49
A09-015 364m L I B B BN 927 15.63
A09-016 279m "= 414
A09-017 208m "= 654
A09-018 130m "= 210
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R02 |R03 [R04 [ROS5 [RO6

A09-019 10m [ I 317
A09-020 47m [ I 205
A09-021 305m [ I 403
A09-022 290m u 384
A09-023 90m [ B BN BN B 134
A09-024 [ I 186
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R02 |R03 [R04 [ROS5 [RO6

A09-025 . 83

£09-026 10m . 193
[ L[] w065 |
| 1] wes| |
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RO2 RO3 RO4
@ 5,961 4,121 3,573
(b) 0 0 0
(c=atb) 5,961 4,121 3,573
) 1,109 3,178 2,296
(e) 3,882 4,996 4,350
) 3,178 2,296 1,515
@ 0 0 0
(h = c+d-e-f) 10 7 4
(i = (g+h)/(c+d)) 0.14 0.09 0.06
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